
[1.2절]

1.21 [뉴튼 법칙 사용]

       <방법 1: 오일러 법칙>

 Σ  =       (질량관성모멘트  =  )

 ⇒  -   ( sin) -    sin) ( cos) = ( ) 

  ⇒       + (   +   cos)  sin  = 0 ,       ≠ 0, 

   ⇒      + (   +   cos ) sin  = 0

       <방법 2>

Σ  =        (가속도   =   )

⇒  -    sin  -    sin ) cos  =    

   ⇒      + (   +   cos ) sin  = 0

  

≃0 이면 sin≃ ,  cos≃1

⇒     + (   +  )   = 0
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      [에너지방법]

운동에너지  = 
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⇒        +   sin    +      = 0,

≃0 이면 sin≃
[  (   +    ) +   ]   = 0    ⇒      + (   +  )   = 0
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